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According to the mental health charity Mind “Half a million people in
the UK experience work-related stress at a level they believe is making

them il1”.
© Crown copyright - HSE

(a) Write down four symptoms of stress.

1. [1]
2. [1]
3. [1]
4, [1]
(b) Discuss how individuals can address their own stress using the

following techniques.
Time management

[3]
Meditation

[3]

Examiner Only

Marks | Remark




(¢) Identify two types of drug a GP might prescribe for stress and explain Examiner Only

how they work. Marks | Remark
Type of drug

[1]

Explanation of how it works

[2]

Type of drug

[1]

Explanation of how it works

[2]
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(d) Explain two advantages and two disadvantages of using drug
treatments for stress.

Advantages
1.

[2]
2.

[2]
Disadvantages
1.

[2]
2.

[2]
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(e) Work is only one socioeconomic factor that influences stress. Analyse Examiner Only
the role of family, housing and social exclusion in contributing to Marks | Remark
stress.

8673 5 [Turn over



Examiner Only

Marks | Remark

[9]
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2 (a) Complete the table below to demonstrate your knowledge of different
psychological perspectives on aggression.

Perspective

Explanation of aggression

[1]

Aggression is learned because it
is reinforced.

[1]

Aggression is imitated from role
models.

[1]

Aggression is caused by irrational
thinking.

[1]

Aggression is instinctive
behaviour and controlled by the
unconscious.

(b) A psychologist might recommend encounter groups to help individuals
overcome aggression. Discuss how encounter groups work.

[3]
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(¢) Discuss how behaviour modification can be used to change a child’s Examiner Only
aggressive behaviour. Marks  Remark

[6]
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(d) Discuss how social skills training addresses aggressive behaviour in Examiner Only

young adults . Marks | Remark

[6]
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(e) Analyse the biological basis of aggression. Examiner Only

Marks | Remark
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[12]
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3 (a) Analyse how Rogers explains depression from the humanistic Examiner Only

perspectiVe, Marks | Remark
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Marks | Remark

[9]

(b) Comment on the relationship between gender and depression.

[3]
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(c) Describe how ECT is used to treat very severe depression. Examiner Only

Marks | Remark

[3]
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(d) Discuss how Ellis’s Rational Emotive Therapy (RET) and Rational Examiner Only
Emotive Behaviour Therapy (REBT) can be used to treat depression. Marks  Remark

[6]
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(e) Analyse the contribution of the psychoanalytic perspective to Examiner Only
understanding and treating depression in adults. Marks | Remark
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[15]

THIS IS THE END OF THE QUESTION PAPER
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